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rrmovqrA, rB En
addq rA, 1B Bnﬂ

irmovqV, 1B [3]0]F[rE]

subq rA, 1B BEE

rmmovq rA, D (rB)[ 4 [0 [ra[rE]

andq rA, 1B nn

mrmovg D (rB), rA [ 50 JrAlrB]

xorq A, 1B na E




rrmovqrA, rB
movq $0xabed, %rdx irmovq $0xabed, %rdx arA [2] 2]

cmovle A, rB E E
movqg %rsp, %rbx rrmovq $rsp, %rbx

o 2 e e

rA, 1B
movq %rsi,Ox4lc (srsp) rmmovq %rsi,Oxdlc ($rsp) ETIEDIY
cmovge A, 1B E E

jXxDest | 7 |fn Dest jmp Dest
jleDest [7]1 e

jipest [7]2]

jeDest |73

jneDest [7]4 Dest

jgeDest [7]5

jgDest [7]6]

pushgrA “n ﬂ

popqrA [2]o]ra[F]




call Dest [8]0]

/* Find number of elements in long len2(long *a)
null-terminated list */ {

long len(long al]) L3: long ip = (long) a;

{ addq $1,%rax long val = *(long *) ip;
long len; cmpg  $0, (%rdi,$rax,8) long len = 0;
for (len = 0; a[len]; lent++) Jjne L3 while (val) {

; ip += sizeof (long) ;

return len; len++;

} val = *(long *) ip;

}

return len;




irmovqg $1, %r8
irmovqg $8, %r9
irmovq $0, %rax
mrmovq (%rdi), %rdx
andqg %rdx, %$rdx

je Done

addq %r8, Srax
addg %r9, %$rdi
mrmovq (%rdi), %rdx
andq %rdx, $rdx
jne Loop

Constant 1
Constant 8

If zero, goto Done

len++

at+

val = *a

Test val

If '0, goto Loop

call len

len:

# Initialization

# Program data

# Main function

# Length function

.pos 0x100 # Placement of stack
Stack:

# Set up stack pointer
irmovq Stack, %$rsp
# Execute main program
call Main irmovq array,%rdi
# Terminate # call len(array)
halt call len
ret
# Array of 4 elements + terminating 0
.align 8
Array:
.quad 0x00040004000d000d
.quad 0x00c000c000c000cO
.quad 0x0b000b000b000b00
.quad 0xa000a000a000a000
.quad 0

len: Stopped in 33 steps at BC = 0x13. Status 'HLT', CC Z=1 S=0 0=0
30£80100000000000000 irmovg $1, %r8 Constant 1 Changes to registers:
30£90800000000000000 irmovq $8, %r9 Constant 8 8
30£00000000000000000 irmovg $0, $rax len = 0
50270000000000000000 mrmovq (%rdi), %rdx val = *a
6222 andq %rdx, %rdx Test val
73a000000000000000 je Done If zero, goto Done
Loop:
addq $r8, %rax len++
addq $r9, %rdi at+
50270000000000000000 mrmovq (%rdi), $rdx val = *a
6222 andq $rdx, %$rdx Test val
748700000000000000 jne Loop # If 10, goto Loop
Done:
: 90 ret
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